
DW-110  1 P.T.O.  

Seat No. :  _______________ 
  

DW-110 
December-2013 

M.Com. (Sem.-IV) 

511-EA/ED : International Accounting 

(Essay) 
 

Time :  3 Hours]  [Max. Marks : 70 
 

1. …Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶Ûà ¸ÛæÈÛÙ ½ÛæÜ¾ÛïõÛ …Û¸ÛÛé. …Û ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶Ûà ÈýÛÛ”ýÛÛ ïéõÈÛà Áõà©Ûé 
…Û¸ÛÉÛÛé ? …Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶Ûà …ÛéÇ”ÛÛ¨Û …Û¸Û©ÛÛ ÜÈÛÜÈÛµÛ ¸ÛÛÍÛÛ×…Ûé ÍÛ¾Û›ÛÈÛÛé. 
…Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛ ÜÈÛïõÛÍÛ¶ÛÛ ïõÛÁõ¨ÛÛé …¶Ûé ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 35 

 Describe preface of International Accounting. How would you define International 
Accounting ? Explain different aspects which give identification of international accounting. 
Explain reasons for development of international accounting and its significance. 

…¬ÛÈÛÛ/OR 
 …Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ¶ÛÛ¨ÛÛ×ïõàýÛ ¸Ûó•Û¤øàïõÁõ¨Û¶ÛÛ µÛÛéÁõ¨ÛÛé …é Í¬ÛÛÜ¶Ûïõ ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé ïõÁõ©ÛÛ× ïõˆ Áõà©Ûé ›ä÷þùÛ ¸Û¦éø 

™öé ? …Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ¶ÛÛ¨ÛÛ×ïõàýÛ ¸Ûó•Û¤øàïõÁõ¨Û µÛÛéÁõ¨ÛÛé¶ÛÛ …ÈÛÁõÛéµÛÛé ˜Û˜ÛÛë. …Û×©ÛÁõÁõÛÜÌ¤ÖøýÛ ¶ÛÛ¨ÛÛ×ïõàýÛ ÜÐüÍÛÛ¼Ûà 
¸Ûó•Û¤øàïõÁõ¨Û¶ÛÛ µÛÛéÁõ¨ÛÛé ïõýÛÛ ïõýÛÛ ™öé ? ïõÛéˆ¸Û¨Û …éïõ µÛÛéÁõ¨Û …×•Ûé ©Û¾ÛÛÁõÛ ÜÈÛ˜ÛÛÁõÛé Áõ›æ÷ ïõÁõÛé. 

 How International Financial Reporting Standards are different than domestic accounting 
standards ? Discuss hurdles of International Financial Reporting standards. Which are 
International Financial Accounting Reporting Standards ? Present your views on any one 
standard.   

 

2. …éïõ ï×õ¸Û¶Ûà¶Ûà ¾Ûä”ýÛ …ÛéÜºõÍÛ ÍÛäÁõ©Û¾ÛÛ× …ÛÈÛéÅÛà ™öé …¶Ûé ©Ûé¶Ûà ÉÛÛ”ÛÛ ÅÛ×¦ø¶Û¾ÛÛ× …ÛÈÛéÅÛ ™öé. ©Ûé¾Û¶ÛÛ 
ÈýÛÜî©Û•Û©Û ïõÛ˜ÛÛ ÍÛÁõÈÛíéýÛÛ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛéÅÛÛ ™öé. ©Ûé¶ÛÛ …ÛµÛÛÁéõ ¾Ûä”ýÛ …ÛéÜºõÍÛ¶ÛÛ ˜ÛÛé¸Û¦éø ÍÛ×ýÛäî©Û ïõÛ˜Ûä× 
ÍÛÁõÈÛíéýÛä …¶Ûé ÍÛ×ýÛäî©Û ¶ÛÛ¨ÛÛïõàýÛ ÜÐüÍÛÛ¼ÛÛé ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¾ÛÛ¤éø¶ÛÛ ©ÛíéýÛÛÁõ ïõÁõÛé. 35 

ŠµÛÛÁõ ¼ÛÛïõà…Ûé ¾Ûä”ýÛ …ÛéÜºõÍÛ
(`) 

ÉÛÛ”ÛÛ 
(¸ÛÛŠ¶¦)ø ›÷¾ÛÛ ¼ÛÛïõà…Ûé ¾Ûä”ýÛ …ÛéÜºõÍÛ 

(`) 
ÉÛÛ”ÛÛ 

(¸ÛÛŠ¶¦ø) 
›÷¾Ûà¶Û-¾ÛïõÛ¶Û 1,50,000 – ÉÛéÁõ¾Ûæ¦øà 7,50,000 – 
¸ÛÛ–Û¦øà 
¸ÅÛÛ¶¤ø-¾ÛÉÛà¶ÛÁõà 

75,000
12,00,000 90,000

ÅÛ×¦ø¶Û ÉÛÛ”ÛÛ¶Ûé 
¾ÛÛéïõÅÛéÅÛ ¾ÛÛÅÛ 11,78,000 – 

ºõÜ¶ÛÙ˜ÛÁõ 45,000 6,000 ÈÛé˜ÛÛ¨Û 34,82,500 3,36,680
ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ 5,10,000 42,000 ¾Ûä”ýÛ …ÛéÜºõÍÛ ”ÛÛ©Ûä – 17,620
”ÛÁõàþùà 31,68,000 1,80,000 ¸ÛÁõ˜ÛäÁõ¨Û ÅÛé¨ÛþùÛÁõÛé 16,68,500 12,750
¾Ûä”ýÛ …ÛéÜºõÍÛ ¸ÛÛÍÛé¬Ûà 
¾ÛÇéÅÛ ¾ÛÛÅÛ   – 16,800

  

¸Û•ÛÛÁõ-¾Û›æ÷Áõà 1,44,000 6,000   
½ÛÛ¦äø-ÈÛéÁõÛ 18,000 1,500   
ÈÛà¾ÛÛé 10,500 750   
ÈÛé¸ÛÛÁõ ”Û˜ÛÛÙ…Ûé 27,000 1500   
ÉÛÛ”ÛÛ ”ÛÛ©Ûä 12,33,500 -   
¸ÛÁõ˜ÛäÁõ¨Û þéùÈÛÛþùÛÁõÛé 3,30,000 18,000   
ÁõÛéïõ¦ø/¼Ûé¶ïõ ÜÍÛÅÛïõ 1,68,000 4,500   
 70,79,000 3,67,050  70,79,000 3,67,050
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 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 

 (1) …Û”ÛÁõ Í¤øÛéïõ : ¾Ûä”ýÛ …ÛéÜºõÍÛ : ÄõÜ¸ÛýÛÛ¾ÛÛ×  4,38,000 

             ÉÛÛ”ÛÛ : ¸ÛÛŠ¶¦ø¾ÛÛ×  39,000 

 (2) ¸ÅÛÛ¶¤ø ¾ÛÉÛà¶ÛÁõà …¶Ûé ºõÜ¶ÛÙ˜ÛÁõ ¸ÛÁõ 10% –ÛÍÛÛÁõÛé •Û¨ÛÛé.  

 (3) ÜÈÛÜ¶Û¾ÛýÛ þùÁõÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. 

  (a) ÜÍ¬ÛÁõ Ü¾ÛÅÛïõ©ÛÛé ”ÛÁõàþùà ©ýÛÛÁéõ  : 1 ¸ÛÛŠ¶¦ø = ` 70  

  (b) ©ÛÛ. 1-4-2012 ¶ÛÛ ÁõÛé›     : 1 ¸ÛÛŠ¶¦ø = ` 72  

  (c) ©ÛÛ. 31-3-2013 ¶ÛÛ ÁõÛé›÷     : 1 ¸ÛÛŠ¶¦ø = ` 74 

  (d) ÈÛÌÛÙ¶Ûà ÍÛÁéõÁõÛÉÛ   : 1 ¸ÛÛŠ¶¦ø = ` 73  

 One company has head office at Surat and having its branch at London. Their individual 
Trail Balances are as follows. On the basis of these, prepare consolidated Trial Balance 
and Financial Accounts in the books of Head Office as at 31-3-13 : 

Debit balances 
Head 

Office (`)
Branch 
Pound 

Credit Balances 
Head 

Office (`) 
Branch 
Pound 

Land-Building 1,50,000 – Share Capital 7,50,000 – 

Goodwill 75,000 – Goods sent to 
London Branch 11,78,000 – 

Plant-Machinery 12,00,000 90,000 Sales 34,82,500 3,36,680

Furniture 45,000 6,000 Head Office A/c. – 17,620

Opening Stock 5,10,000 42,000 Sundry Creditors 16,68,500 12,750

Purchases 31,68,000 1,80,000   

Goods received from H.O. – 16,800   

Salary-wages 1,44,000 6,000   

Rent-taxes 18,000 1,500   

Insurance 10,500 750   

Trading Expenses 27,000 1,500   

Branch Account 12,33,500 –   

Sundry Debtors 3,30,000 18,000   

Cash/Bank Balance 1,68,000 4,500   

 70,79,000 3,67,050  70,79,000 3,67,050
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 Additional Information : 

 (1) Closing Stock : 

  Main Office : ` 4,38,000 

  Branch : £ 39,000 

 (2) Provide depreciation @ 10% on Plant & Machinery and Furniture. 

 (3) Exchange Rates are as follows : 

  (a) When fixed assets were acquired  : 1 pound = 70 rupees 

  (b) On 1-4-2012 : 1 pound = 72 rupees 

  (c) On 31-3-2013 : 1 pound = 74 rupees 

  (d) Yearly average : 1 pound = 73 rupees 

…¬ÛÈÛÛ/OR 

 ºäõ•ÛÛÈÛÛé …é¤øÅÛé ÉÛä× ? ›ä÷þùÛ× ›ä÷þùÛ× ¸ÛóïõÛÁõ¶ÛÛ ½ÛÛÈÛ ºéõÁõºõÛÁõÛé ŠþùÛÐüÁõ¨Û ³ùÛÁõÛ ÍÛ¾Û›ÛÈÛÛé. ºäõ•ÛÛÈÛÛ¶Ûà 
¸Ûó¨ÛÛÜÅÛïõÛ•Û©Û ÜÐüÍÛÛ¼ÛÛé ¸ÛÁõ ïõýÛÛ ¸ÛóïõÛÁõ¶Ûà …ÍÛÁõ ¬ÛÛýÛ ™öé ? ºäõ•ÛÛÈÛÛ¶ÛÛ ïõÛÁõ¨Ûé ¶ÛºõÛ¾ÛÛ× ¬Û©ÛÛ× 
ÜÈÛïèõ©ÛàïõÁõ¨Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. ºäõ•ÛÛÈÛÛÅÛ“Ûà ÜÐüÍÛÛ¼ÛÛé ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûà ïõÛéˆ¸Û¨Û …éïõ ¸Û±ùÜ©Û ÜÈÛ•Û©Ûé 
ÍÛ¾Û›ÛÈÛÛé.      35 

 What is Inflation ? Explain different types of price changes with illustrations. What type 
of effect of inflation has on historical accounts ? Explain distortion in profit due to 
inflation. Explain any one method in detail for preparation of Inflation Account. 

____________ 
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